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4. HOW TO SOLVE EXPONENTIAL EQUATIONS?

Solve the algebraic exponential equation: 4% = 16

4A. Use the inverse operation known as “equating exponent” to solve algebralcally
4B. Use the inverse operation known as logarithms to solve algebraically
4C. Use a graphical technique to solve this algebraic equation
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Name: Class #:

5. HOW TO SOLVE EXPONENTIAL EQUATIONS?

Solve each of the algebraic equations below.

¥ 5A. 8*+3 = 64 SE. 2%+3 = 3%
SB. 24 =13/2 5F. 4In(2x) =8
5C. log,(8—6x) =5 _V/_ 5F. In(x?) =In(3x + 4)

5D log(x) +log(x—3) =1
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